
RA-ME

Mounting instructions – Recessed mounting plate with Eyebolt for LL-12 - LL-70 

Penny Hydraulics Ltd reserves the right to make changes to the technical data without prior notice. Penny Hydraulics Ltd assumes no liability for 
typesetting and printing errors. No claims can be derived from the information in this data sheet.

LUXLIFT │ pennyhydraulics.com │ sales@pennyhydraulics.com │ +44 (0) 1246 811475 

Delivery scope:

• Recessed mounting plate
• 4 spacers M6x35
• M8 eyebolt with corresponding self-

locking nut
• 4 screws M6x14

Required tools:

• Allen wrench size 4
• Wrench size 13
(Torque for M6 screws: max. 7 Nm)



1.

First mount the ring screw with the self-
locking nut into the center hole.

2.
Screw the 4 spacers to the lift.

Feed the cables through the designated 
holes and position the recessed cover 
below the spacers.

3. 
Attach the screws to the underside of the 
spacers so that the recessed cover is 
screwed tightly in between.

Penny Hydraulics Ltd reserves the right to make changes to the technical data without prior notice. Penny Hydraulics Ltd assumes no liability for 
typesetting and printing errors. No claims can be derived from the information in this data sheet.

LUXLIFT │ pennyhydraulics.com │ sales@pennyhydraulics.com │ +44 (0) 1246 811475 


